HMERMBEE (2021 EEEFH) (REHRYEESF)
BERTAL BREHAK (1)

PAERD KA -
L)
B SR BHA T, 10 5570 0.3 K OBATREMET LT B7 b,
M ___ 93 _ 510Kl
o 10x60 —— 1%

(10)

(2)
emicy e L5 e,
aT _31-30

5 ~10x10° = 1x107 [K/m]
» 1x10 " [K/m]

(10)
(3)

%T _0ARDT, JMENS FLEL LB L.

01 i GevT =0
ot

SNERITE R TH Y | T IZRE S I —ER72 D T, BIEICB W TR D
BB LT,

2T+va—T=O
ot oy
L7z,
0
e ~ N
VPG LI /YN
or 1x10t T
oy

(10)




2.

(1)

@DFEtTHHT DL,
d? d
—v=—f—u
dt dt
@EFRALT,
2
vt

(2)
(1) TRD HEROMIT, —iKIz
v=Csin(ft+a) (C. o l3E%)

EET D, t=01CBNTE, AIRMALY, v=0ThD, &HIC,

DXy, u=0m & x, %V:Gf:‘vb)%\

Csina=0, Cfcosa=G
Thbd, LT=HB-T,

a=0, C=E
f
Lo T,
V=—sin ft
(3)
@Xv.
1d G
U=———V+—
f dt f

(2) ORFERALT,

u:—iGcosfH%:%(l—cos ft)

(10)

(10)

(10)




HMERMBEE (2021 EEEFH) (REHRYEESF)
BERTAL+ BRER#K (2)

FHEEE K4 :

3. (1)
D% piz>\T p, =950 hPa »°5 p, =1000 hPa * TN T 5 &,

jpz 6_u+@ dp+fpza—wdp:0
P | OX ay [ 8p
Pp=p, Co=07156,

ou ov
(pz - P &"‘EJ—C{)(D = pl)zo
L7=23-> T,
ou ov -
o(p=p,)=(p, - p: &+EJ:(1000—950)><(9.8><10 °)
=4.9x10"* [hPa/s]
(2)
@. @Y,

g
w=49x107Pals, a=09m’kg. g=9.8m/s*ZRAT DL,

-2
(4.9~ 1908 )<09 = —4.5x107 [m/s]

(10)

(10)




4. (1)
DOTEFL-O

d_e:(@) dr (o0
dp \oT /), dp \op

T2,

©OESUN

T2,

(2)
BB DI DR LY |

(1) OFERE@ LY,

p:

ar _
dp

@b hNEEATS L,

1

ar _
dp

_R
ﬁ] Cp dT
Po

RT

C,p

ORT

1
C,p

(10)

(10)




